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n:=3§8 i=1.n j:=1.n
v =i b, = i
M ] i
111 1 1 1 1 1
12 4 8 16 32 64 128
13 9 27 81 243 729 2187
1 4 16 64 256 1024 4096 16384
V= 1 5 25 125 625 3125 15625 78125 Use format to Change to decimal.
1 6 36 216 1296 7776 46656 279936
1 7 49 343 2401 16807 117649 823543
1 8 64 512 4096 32768 262144 2097152

cond2(V) =9.521 x 108

hExpect a relative error of 10'4

x := Isolve(V,b) =

~1.997x 10~ 1©

5.072x 10 10

—4923x 10 0

2.408x 10 1°

—6518x 107 !

9.878x 107 12

1
14

2.526% 10

10f4

Better than expected|
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2)
r:=1m h:=1m
2 2
V(r,h) := wr-h A(r,h) = 2-mrh + 2nr
Given
3
V(r,h) >2m

sol := Minimize(A,r,h)

0.683
ol = m
1.366

= sol1 =0.683m &A:: sol2 =1.366m
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3) i=1.9 t,=-4+i08 (1) = sin(t) fin = fex(tm)
1
-3.2 0.058
-2.4 ~0.675
-1.6 -1
-0.8 -0.717
tn=| O f,=| 0
0.8 0.717
1.6 1
24 0.675
3.2 -0.058
1 0
funes (1) = t qus = linﬁt(tm,fm,funcscls) =| 0.809
S ~0.082

st = qus~funcscls(t)

Cubic Least Squares

— Exact
Ik xxx Measured ||
— - Cubic LS
1 1 1
-2 0 2
X
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4) 1

4
£y = boct 4 yy?)
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f(xx,yy) =1 solve,yy —

1

1

1

1

1

D xx - e+ 1)

1

—(—1)4-(xx - 1)4~(xx +1)

1

(—1)4-(xx— 1)4~(xx +1) -

1

DY - x4 1)

s =

-lklb—‘

s

-(xx2 + 1)4

-lklb—‘
S—
-l>|»—‘

-(xx2 +1

(xx2 + 1) -1
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